
A
D

A 
W

O
R

K
TA

B
LE

C
O

V
E

R
 P

A
G

E
D

IR
E

C
TO

R
:

S
C

E
N

IC
 D

E
S

IG
N

E
R

:
TE

C
H

N
IC

A
L 

D
IR

E
C

TO
R

:
D

R
A

FT
E

R
:

G
E

O
R

G
E

 M
A

S
IO

N
 U

N
IV

E
R

S
IT

Y 
C

V
PA

D
AT

E
:

R
E

V
IS

E
D

:
S

C
A

LE
:

1/
20

/2
1

2/
21

/2
1

N
/A

N
/A

N
/A

C
A

R
R

IE
 C

O
X

S
TE

P
H

A
N

 S
TA

R
LI

N
G

P
LA

TE

O
F

0701

TABLE OF CONTENTS
PLATE PLATE NAME DATE

01 COVER PAGE 2/1/21

02 TABLE TOP 2/1/21

ORDER OF OPERATIONS
01 CUT & WELD TABLE TOP

02

CUT & WELD TABLE LEGS03

WELD TOGETHER TABLE TOP, SHELF, & LEGS04

CUT & WELD SHELF UNIT

05

ATTACH PLYWOOD & MASONITE TABLE TOP

06 WELD FLATSTOCK HARDWARE CONNECTIONS

07

BOLT ON CASTERS

08

MODIFY SCENERY BRAKES AS NEEDED

09

BOLT ON SCENERY BRAKES

10

DRILL BOLT HOLES IN FLATSTOCK

DRILL & ATTACH SCENERY BRAKE KEEPERS

11

12

ATTACH PLYWOOD SHELF SURFACES & LIPS

PAINT STEEL WITH RUST-PREVENTING PAINT13

03 SHELVES 2/1/21

04 TABLE LEG - LONG 2/1/21

05 TABLE LEG - SHORT 2/1/21

06 FRAME ASSEMBLY 2/1/21

07 HARDWARE 2/2/21

VECTORWORKS EDUCATIONAL VERSION

VECTORWORKS EDUCATIONAL VERSION



A
D

A 
W

O
R

K
TA

B
LE

TA
B

LE
 T

O
P

D
IR

E
C

TO
R

:
S

C
E

N
IC

 D
E

S
IG

N
E

R
:

TE
C

H
N

IC
A

L 
D

IR
E

C
TO

R
:

D
R

A
FT

E
R

:

G
E

O
R

G
E

 M
A

S
IO

N
 U

N
IV

E
R

S
IT

Y 
C

V
PA

D
AT

E
:

R
E

V
IS

E
D

:
S

C
A

LE
:

1/
20

/2
1

2/
21

/2
1

1'
-0

" =
 1

"

N
/A

N
/A

C
A

R
R

IE
 C

O
X

S
TE

P
H

A
N

 S
TA

R
LI

N
G

P
LA

TE

O
F

0702

4'-0"

5"

3'-2"

5"

1'-11" 2'-1"

4'-0"

2"

FRAME IN 1"x1" BOX STEEL - MIG WELD
CAP WITH 3/4" PLY AND 1/4" MASO
ATTACH PLY WITH TEK SCREWS &

MASO WITH 3/4" DRYWALL SCREWS
OR 3/4" NARROW CROWN STAPLES

CUT LIST

1"x1" BOX STEEL
4 @ 4'-0"  L∠45° → L∠45°
2 @ 3'-10" ⊾→⊾
1 @ 3'-2" ⊾→⊾
2 @ 0'-3" ⊾→⊾

3/4" PLYWOOD
1 @ 4'-0" x 4'-0"

1/4" MASONITE
1 @ 4'-0" x 4'-0"

VECTORWORKS EDUCATIONAL VERSION

VECTORWORKS EDUCATIONAL VERSION



A
D

A 
W

O
R

K
TA

B
LE

S
H

E
LV

E
S

D
IR

E
C

TO
R

:
S

C
E

N
IC

 D
E

S
IG

N
E

R
:

TE
C

H
N

IC
A

L 
D

IR
E

C
TO

R
:

D
R

A
FT

E
R

:

G
E

O
R

G
E

 M
A

S
IO

N
 U

N
IV

E
R

S
IT

Y 
C

V
PA

D
AT

E
:

R
E

V
IS

E
D

:
S

C
A

LE
:

2/
1/

21
2/

21
/2

1
1'

-0
" =

 1
"

N
/A

N
/A

C
A

R
R

IE
 C

O
X

S
TE

P
H

A
N

 S
TA

R
LI

N
G

P
LA

TE

O
F

0703

2'-2"

5 3/4"

1'-6 1/4"

2"

6"3'-4"

CUT LIST

1"x1" BOX STEEL
2 @ 3'-4"  L∠45°→ L∠45°
4 @ 2'-2"  L∠45°→⊾
2 @ 0'-4" ⊾→ ⊾

1"x2" BOX STEEL
2 @ 3'-2"  ⊾→⊾

FRAME IN 1"x1" & 1"x2" BOX STEEL - MIG WELD
ATTACH 3/4" PLY TO STEEL WITH TEK SCREWS &

PLY LIPS TO SHEVES WITH 1 1/4" DRYWALL SCREWS

ISOMETRIC VIEW

3/4" PLYWOOD
1 @ 3'-4" x 0'-6"
1 @ 3'-2" x 0'-6"
4 @ 3'-2" x 0'-1"6"

3'-4"

1"

1"

1"1"

BOTTOM SHELF

FRAME

PLYWOOD SHLEVES

SHELF

LIP

SHELF

LIP

FRAME

VECTORWORKS EDUCATIONAL VERSION

VECTORWORKS EDUCATIONAL VERSION



A
D

A 
W

O
R

K
TA

B
LE

TA
B

LE
 L

E
G

 - 
LO

N
G

D
IR

E
C

TO
R

:
S

C
E

N
IC

 D
E

S
IG

N
E

R
:

TE
C

H
N

IC
A

L 
D

IR
E

C
TO

R
:

D
R

A
FT

E
R

:

G
E

O
R

G
E

 M
A

S
IO

N
 U

N
IV

E
R

S
IT

Y 
C

V
PA

D
AT

E
:

R
E

V
IS

E
D

:
S

C
A

LE
:

1/
29

/2
1

2/
21

/2
1

1'
-0

" =
 1

 1
/2

"

N
/A

N
/A

C
A

R
R

IE
 C

O
X

S
TE

P
H

A
N

 S
TA

R
LI

N
G

P
LA

TE

O
F

0704

6"

1'-7"

5"

1'-9 1/2"

CUT LIST

1"x1" BOX STEEL
2 @ 1'-9 1/2"  L∠45°→⊾
2 @ 0'-6"  L∠45°→ L∠45°
2 @ 0'-5 21/32" L∠45°→ L∠45°
2 @ 0'-5"  L∠45°→ L∠45°
2 @ 0'-4"  L∠45°→⊾

1"x2" BOX STEEL
2 @ 1'-11"  ⊾→⊾

2'-0"

5"

45°

R&R
BUILD FROM 1"x1" BOX STEEL WITH A 1"x2" BOX STEEL UPRIGHT

MIG WELD

ISOMETRIC VIEW

VECTORWORKS EDUCATIONAL VERSION

VECTORWORKS EDUCATIONAL VERSION



A
D

A 
W

O
R

K
TA

B
LE

TA
B

LE
 L

E
G

 - 
S

H
O

R
T

D
IR

E
C

TO
R

:
S

C
E

N
IC

 D
E

S
IG

N
E

R
:

TE
C

H
N

IC
A

L 
D

IR
E

C
TO

R
:

D
R

A
FT

E
R

:

G
E

O
R

G
E

 M
A

S
IO

N
 U

N
IV

E
R

S
IT

Y 
C

V
PA

D
AT

E
:

R
E

V
IS

E
D

:
S

C
A

LE
:

2/
1/

21
2/

21
/2

1
1'

-0
" =

 1
 1

/2
"

N
/A

N
/A

C
A

R
R

IE
 C

O
X

S
TE

P
H

A
N

 S
TA

R
LI

N
G

P
LA

TE

O
F

0705

6"

1'-1 1/2"

CUT LIST

1"x1" BOX STEEL
2 @ 1'-1 1/2"  L∠45°→⊾
2 @ 0'-6"  L∠45°→ L∠45°
2 @ 0'-5 21/32" L∠45°→ L∠45°
2 @ 0'-5"  L∠45°→ L∠45°
2 @ 0'-4"  L∠45°→⊾

1"x2" BOX STEEL
2 @ 1'-11"  ⊾→⊾

2'-0"

5"

45°

1'-7"

5"

R&R
BUILD FROM 1"x1" BOX STEEL WITH A 1"x2" BOX STEEL UPRIGHT

MIG WELD

ISOMETRIC VIEW

VECTORWORKS EDUCATIONAL VERSION

VECTORWORKS EDUCATIONAL VERSION



A
D

A 
W

O
R

K
TA

B
LE

FR
A

M
E

 A
S

S
E

M
B

LY
D

IR
E

C
TO

R
:

S
C

E
N

IC
 D

E
S

IG
N

E
R

:
TE

C
H

N
IC

A
L 

D
IR

E
C

TO
R

:
D

R
A

FT
E

R
:

G
E

O
R

G
E

 M
A

S
IO

N
 U

N
IV

E
R

S
IT

Y 
C

V
PA

D
AT

E
:

R
E

V
IS

E
D

:
S

C
A

LE
:

2/
1/

21
2/

21
/2

1
1'

-0
" =

 ¾
"

N
/A

N
/A

C
A

R
R

IE
 C

O
X

S
TE

P
H

A
N

 S
TA

R
LI

N
G

P
LA

TE

O
F

0706

3'-5" 3 1/2"3 1/2"

1'-5" 6" 2'-1"

2'-1"

3'-4"

2'-3"

4" 4"

MIG WELD TOGETHER TABLE TOP, SHELF, & LEG ELEMENTS

VECTORWORKS EDUCATIONAL VERSION

VECTORWORKS EDUCATIONAL VERSION



A
D

A 
W

O
R

K
TA

B
LE

H
A

R
D

W
E

R
E

D
IR

E
C

TO
R

:
S

C
E

N
IC

 D
E

S
IG

N
E

R
:

TE
C

H
N

IC
A

L 
D

IR
E

C
TO

R
:

D
R

A
FT

E
R

:

G
E

O
R

G
E

 M
A

S
IO

N
 U

N
IV

E
R

S
IT

Y 
C

V
PA

D
AT

E
:

R
E

V
IS

E
D

:
S

C
A

LE
:

2/
1/

21
2/

21
/2

1
N

/A

N
/A

N
/A

C
A

R
R

IE
 C

O
X

S
TE

P
H

A
N

 S
TA

R
LI

N
G

P
LA

TE

O
F

0707

LEGS AND PLATE BASED ON LISTED STOCK CASTER
CENTER CASTER ON PLATE WITH 1" BORDER ON ALL SIDES

CUT AND DRILL BOLT HOLES IN 3/16" STEEL FLAT STOCK
MIG WELD PLATES TO LEGS & BOLT CASTERS TO PLATES

STOCK SWIVEL CASTER
TOTAL HEIGHT:
WHEEL DIAMETER:
PLATE:

0'-4"
0'-3"

0'-3" x 0'-4"

CUT LIST
3/16" STEEL FLATSTOCK

4 @ 0'-5" x 0'-6"
3/16" STEEL FLATSTOCK PLATE CTF

MIG WELD PLATES TO LEGS
ALTER SCENERY BRAKES AS NEEDED
BOLT SCENERY BRAKES TO PLATES

CUT, DRILL, AND MIG WELD KEEPERS

PLATE

KEEPER

KEEPER

VECTORWORKS EDUCATIONAL VERSION

VECTORWORKS EDUCATIONAL VERSION


	01-Cover Page
	Overview Top
	Overview Bottom

	02-Table Top
	Tabletop Plan
	Tabletop Front

	03-Shelves
	Shelf Frame Side
	Shelf Frame Front
	Shelf Iso
	Shelf Ply Side
	Shelf Ply Front
	Shelf Ply

	04-Table Leg - Long
	Leg Long Plan
	Leg Long Front
	Leg Long Side
	Leg Long Iso

	05-Table Leg - Short
	Leg Short Plan
	Leg Short Front
	Leg Short Side
	Leg Short Iso

	06-Frame Assembly
	Frame Plan
	Frame Front
	Frame Side
	Frame Iso

	07-Hardware
	Hardware Overview
	Hardware Caster
	Hardware Scenery Brake


